Indy 500
Name:_______________________

Date:________________

Period:___________

Indianapolis 500

Average Speed

	Year
	Average Speed (mph)
	Year
	Average Speed (mph)
	Year
	Average Speed (mph)
	Year
	Average Speed (mph)

	1915
	89.84
	1940
	114.277
	1965
	150.686
	1990
	185.984

	1920
	88.16
	1945
	NONE
	1970
	155.749
	1995
	153.615

	1925
	101.13
	1950
	124.002
	1975
	149.213
	2000
	?

	1930
	100.448
	1955
	128.209
	1980
	142.862
	2005
	?

	1935
	106.24
	1960
	138.767
	1985
	152.982
	2010
	?


1.
Use the data from the chart above to create a scatter plot with years on the 

horizontal axis and speeds on the vertical axis.
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2.
Use a clear ruler to draw a line of best fit on your scatter plot.

3.
Find the slope and y-intercept of your line of best fit, and write the equation for the line.  (Hint:  Find two points that contain your line of best fit, and then use 
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y-y

m=

x-x

 to find the slope.)  

4.
Based on your line of best fit, estimate the speeds for 2000, 2005, 2010, and the year of the most recent Indianapolis 500.  Use an almanac or another information source to find actual speed for 2000?  What might explain the differences between your estimates and the actual speeds?
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